Water Infrastructure

FINANCING PROGRAMS

VERMONT WASTEWATER AND POTABLE WATER REVOLVING LOAN FUND

On-site Loan Program

PRE-QUALIFICATION APPLICATION

APPLICANT INFORMATION	i di di	
Applicant Nancy dullot Co-Applicant		
Address 1241 Taber Hill Rd. Address		
City Stowl City		
State VT Zip 05672 State Zip		
Home Phone 802 793-1430 Home Phone		
Alternate Phone Alternate Phone		
E-mail Address nancy dumonto quair oME-mail Address		
PROJECT INFORMATION		
Please send any requested documents with this application form, as noted below.		
1. Do you own this home? If yes, please provide a copy of the homeowners deed.	₽ Y	□N
2. Do you reside in this residence on a year-round basis? If yes, please attach a copy of the VT Homestead Declaration.	□ Y	□N
3. Has the wastewater or potable water system serving the residence failed, or is it about to fail? You will need to provide supporting documentation. Onsite Loan Program staff will provide guidance on this.	P Y	□N
4. Have you been refused a loan for this project from at least one lending source? If yes, please attach a copy of the Notice of Adverse Action from the lender.	□ Y	□N
5. Has the wastewater and/or potable water supply permit been issued? If yes, please attach a copy of the permit or approval letter issued by the Drinking Water and Groundwater Protection Division, Regional Office Program.	□ Y	□N

INCOME INFORMATION

In the table below, please provide the MONTHLY gross income for your household. Gross income is the combined income, before taxes and other deductions, of everyone in the household over age 17 (regardless of whether or not they will be on the mortgage and/or deed) and includes job earnings, benefit payments, support payments, and income from assets.

If you are Self-employed, please calculate your monthly Net Income (after deducting business expenses) based on the last 12 months.

MONTHLY INCOME (by type)	APPLICANT Monthly Amount	CO-APPLICANT Monthly Amount	FAMILY MEMBERS Monthly Amount
Wages/Salary			
Alimony/Child Support			
Self-Employment Income			
Retirement Income			
Public Assistance			
Other Income			
TOTAL 2016	25,000		
TOTAL ANNUAL INCOME	25,000		

APPLICANT(S) SIGNATURE AND ACKNOWLEDGEMENTS

The applicant(s) hereby certify in fulfillment of 24 V.S.A. §4763b(4)(B) to secure all state and federal permits, licenses and approvals necessary to construct the improvements to be financed by the loan. I, We understand that knowingly making any false statements concerning this project will result in a rejection of the loan.

Applicant's Signature

Co-Applicant's Signature

Print Name

Print Name Date

TO COMPLETE APPLICATION:

- 1. Make sure all information is complete and print application.
- 2. Sign and date application.
- 3. Mail application and any additional documents to: Department of Environmental Conservation, Facilities Engineering Division, 1 National Life Drive - Main 1, Montpelier, VT 05620-3510

QUESTIONS?

Contact Chris Rottler at (802) 461-6051 or chris.rottler@vermont.gov

FOR DEPARTMENT USE ONLY

Date Received Amount Requested Received By Denied Approved Comments Date Approved/Denied **Total Amount Approved**

Reviewer

Reviewer



Martin Werth Landscaping & Excavation Inc. 340 Terrill Gorge Lane Morrisville, VT 05661 802-777-0169

lì	7	V	O	ı	C	9

Date	Invoice No.
10/27/18	10104

Bill To	
Nancy Dumont	
1241 Taber Hill Rd	
Stowe VT 05672	

Ship To			

P.O. Number	Terms	Rep	Ship Date	Ship Via	FOB	Project
			10/27/18			

Item	Description	Quantity	Price Each	Amount
volvo 140	Volvo 140 excavator construction of new leach field	52	150.00	7,800.00
Mound sand	Mound sand	64	25.00	1,600.00
Stone	1"1/4 Stone	48	25.00	1,200.00
Pipe	2" pipe and fittings	1	652.90	652.90
pump station	1000 gallon pump staiton	1	3,300.00	3,300.00
topsoil	Topsoil	32	40.00	1,280.00
labor	Labor	37	50.00	1,850.00
sand fill	Sand Fill	64	25.00	1,600.00
Dirt fill	Dirt Fill	64	25.00	1,600.00
Chipper	Chipper	1	500.00	500.00
dump fee	Dump fee pump house	1	175.00	175.00
dump fee	Dump fee concrete	1	75.00	75.00
septic tank riser	18" tank riser with lid	1	75.00	75.00
Septic tank	Pumping septic tank	1	350.00	350.00
pump				
		,		
Thank you for yo	ur business.		Subtotal	\$22,057.90
			Sales Tax	\$0.00
			Total	\$22,057.90

Trailhead Designs LLC

P.O. Box 671 Barre, VT 05641

Invoice

Date	Invoice #
11/2/2018	2014-09-2

Bill To	
Nancy Dumont 1241 Tabor Hill Road Stowe, VT 05672	

P.O. No.	Terms	Project
	Due on receipt	2014-09 Dumont

Quantity	Description	Rate	Amount
1 1	Replacement System Design Fee Replacement System Installation Inspection Design Fee Paid	1,800.00 350.00 -800.00	1,800.00 350.00 -800.00
It's been a ple	easure working with you!	Total	\$1,350.00



Invoice Number	18105
Date	11/7/18

INGERSOLL ELECTRIC CORP.

171 Stowe Hollow rd. Stowe, VT. 05672 401-258-4458, ingersollelec@hotmail.com

Qty	Material	Price	Amount	Description of Work
1	Metal box			Wire septic pump and alarm from new
1	Metal cover			Pump station to crawl space
1	receptacle			Add circuit to panel
100	12/2 uf	a		
1	Pvc lb			
5'	1" pvc	\$75.00		
	· · · · · · · · · · · · · · · · · · ·			

OTHER CHARGES

Please note: all invoices not payed after 60 days may be subject to a 2% late payment fee

THANK YOU!

LABOR

DITECT			
Labor	Hrs.	Rate	Amoun
			t
2 men	3.5	80/hr	\$560.0
			0

Total Labor	\$560.0
¥.	0
Total Materials	\$75.00
Total Other	
Tax	\$5.25
TOTAL	\$640.2
	5